



1839 Atchison Drive DATE: July 14, 2023

Norman, OK 73069

LIC #80000972

## Bill To:

City of Norman - Fire Training Center 2207 Goddard Ave Norman, OK 73069

DESCRIPTION	AMOUNT
*Verbal approval from Nate McNeely to work after hours due to timeline constraints.	
Monday 5/1/23:	
- Lead Mold Investigator: 1 hour x \$130.00/hr	\$ 130.00
- Assistant Mold Investigator: 1 hour x \$99.00/hr	\$ 99.00
- Assistant Water Intrusion Investigator: 1 hour x \$99.00/hr	\$ 99.00
- Testing: base (2 samples)	\$ 500.00
- Additional samples: 3 x \$85.00/sample	\$ 255.00
- Expedited results: 5 samples x \$75.00/sample	\$ 375.00
Materials: N95 masks, gloves	\$ 3.20
Tuesday 5/2/23:	
- Administrative: 1.5 hours x \$95.00/hr	\$ 142.50
Friday 5/5/23:	
- Project Manager: 3.25 hours x \$130.00/hr	\$ 422.50
- Lead Remediation Tech: 8 hours x \$120.00/hr	\$ 960.00
- Remediation Tech #1: 7.75 hours x \$110.00/hr	\$ 852.50
- Remediation Tech #2: 7 hours x \$110.00/hr	\$ 770.00
- Logistics/procurement: 6.25 hours x \$99.00/hr	\$ 618.75
- Administrative: 2.75 hours x \$95.00/hr	\$ 261.25
Dumpster	\$ 550.00
Materials:	\$ 992.04
- (4) duct collars, 10x10 furnace wye, HVAC 90 degree elbows, foil tape, duct	

strap, lay flat ducting, nails, screws, wire mesh, 6 mil plastic, N95 masks, duct tape,	
green tape, tyvek suits, double-sided tape, red tape, zippers, trash bags	
Equipment:	
- Air scrubbers: 4 x \$120/day	\$ 480.00
- Zip posts: 1 x \$5.00/day	\$ 5.00
Saturday 5/6/23:	
- Air scrubbers: 4 x \$120/day	\$ 480.00
- Zip posts: 1 x \$5.00/day	\$ 5.00
Sunday 5/7/23:	
- Air scrubbers: 4 x \$120/day	\$ 480.00
- Zip posts: 1 x \$5.00/day	\$ 5.00
Monday 5/8/23:	
- Project Manager/Testing: 5.25 x \$130.00/hr	\$ 682.50
- Testing: base (2 samples)	\$ 500.00
- Additional samples: 3 x \$85.00/sample	\$ 255.00
- Expedited results: 5 samples x \$75.00/sample	\$ 375.00
- Lead Remediation Tech: 8 hours x \$120.00/hr	\$ 960.00
- Lead Remediation Tech: 1.5 hours x \$215.00/hr (after hours)	\$ 322.50
- Remediation Tech #1: 8 hours x \$110.00/hr	\$ 880.00
- Remediation Tech #1: 2.5 hours x \$200.00/hr (after hours)	\$ 500.00
- Remediation Tech #2: 8 hours x \$110.00/hr	\$ 880.00
- Remediation Tech #2: .25 x \$200.00/hr (after hours)	\$ 50.00
- Logistics/procurement: 3 hours x \$99.00/hr	\$ 297.00
- HEPA vac usage: 1 hour x \$57.00/hr	\$ 57.00
Equipment:	
- Air scrubbers: 6 x \$120.00/day	\$ 720.00
- Zip posts: 1 x \$5.00/day	\$ 5.00
- Air duct cleaning machine: per day	\$ 300.00
- Antimicrobial treatment: 4 vents	\$ 76.00
Materials:	\$ 1,035.38
- Zip ties, sandpaper, painters plastic, air scrubber pre filters (stage 1 & 2), tyvek suits,	
mask gaskets, hard case respirators cartridges, gator guard floor protection, blue tape,	
duct tape, antimicrobial wipes, gloves, latex coated gloves, trash bags, double sided tape,	

ziplock bags, multi tood blades, sticky walk off mats, antimicrobial (liquid), rag	s	
Tuesday 5/9/23:		
- Project Manager: 2.75 x \$130.00/hr	\$	357.50
- Lead Remediation Tech: 8 hours x \$120.00/hr	\$	960.00
- Lead Remediation Tech: 4 hours x \$215.00/hr (after hours)	\$	860.00
- Remediation Tech #1: 8 hours x \$110.00/hr	\$	880.00
- Remediation Tech #1: 2.75 hours x \$200.00/hr (after hours)	\$	550.00
- Logistics/procurement: 1 hour x \$99.00/hr	\$	99.00
Equipment:		
- Air scrubbers: 6 x \$120.00/day	\$	720.00
- Zip posts: 4 x \$5.00/day	\$	20.00
- HEPA vac usage: 2 hour x \$57.00/hr	\$	114.00
- Antimicrobial treatment: 10 vents/returns	\$	190.00
- Dehumidifier: per day	\$	115.00
- Air duct cleaning machine: per day	\$	300.00
Materials:	\$	162.25
- ceiling tiles, tyvek suits, air scrubber filters		
Wednesday 5/10/23:		
- Lead Mold Investigation/Testing tech: 3 hours x \$130.00/hr	\$	390.00
- Base: 2 samples	\$	500.00
- Additional sample	\$	85.00
- Expedited testing: 3 samples x \$75.00/sample	\$	225.00
- Logistics/procurement: 2.5 hours x \$99.00/hr	\$	247.50
- Lead Remediation Tech: 8 hours x \$120.00/hr	\$	960.00
- Lead Remediation Tech: 2 hours x \$215.00/hr (after hours)	\$	430.00
- Remediation Tech #1: 8 hours x \$110.00/hr	\$	880.00
- Remediation Tech #1: 1.25 hours x \$200.00/hr (after hours)	\$	250.00
- Remediation Tech #2: 4.5 hours x \$110.00/hr	\$	495.00
- Remediation Tech #3: 3.25 hours x \$110.00/hr	\$	357.50
Equipment:		
- Air scrubbers: 6 x \$120.00/day	\$	720.00
- Extension cords: (3) 25', (2) 50'	\$	35.00
- Zip posts: 4 x \$5.00/day	\$	20.00
- HEPA vac usage: 3.75 hour x \$57.00/hr	\$	213.75

- Antimicrobial treatment: 4 vents	\$	76.00
- Dehumidifier: per day	\$	115.00
- Air duct cleaning machine: per day	\$	300.00
Materials:	\$	999.32
- 2 cartons ceiling tiles, air scrubber prefilters, trash bags, 6 mil plastic, tyvek suits,		
painters tape, antimicrobial wipes, HEPA vac bags, respirator cartridge, liquid		
antimicrobial, gloves		
Thursday 5/11/23:	1	
- Lead Remediation Tech: 7.5 hours x \$120.00/hr	\$	900.00
- Remediation Tech #1: 8 hours x \$110.00/hr	\$	880.00
- Remediation Tech #1: 2 hours x \$200.00/hr (after hours)	\$	400.00
- Remediation Tech #2: 1.75 hours x \$110.00/hr	\$	192.50
- Logistics/procurement: 3 hours x \$99.00/hr	\$	297.00
Equipment:	1	
- Air scrubbers: 6 x \$120.00/day	\$	720.00
- Zip posts: 4 x \$5.00/day	\$	20.00
- Dehumidifier: per day	\$	115.00
Friday 5/12/23:	1	
- Lead Remediation Tech: 8.5 hours x \$120.00/hr	\$	960.00
- Lead Remediation Tech: .75 hours x \$215.00/hr (after hours)	\$	161.25
- Remediation Tech #1: 7 hours x \$110.00/hr	\$	770.00
Equipment:		
- Air scrubbers: 6 x \$120.00/day	\$	720.00
- Zip posts: 4 x \$5.00/day	\$	20.00
- Dehumidifier: 2 x \$115.00/per day	\$	230.00
- HEPA vac usage: .5 hours x \$57.00/hr	\$	28.50
Materials:	\$	126.58
- Air scrubber prefilters, tyvek suits		
Saturday 5/13/23: (after hours)	1	
- Lead Remediation Tech: 2 hours x \$215.00/hr	\$	430.00
Equipment:	ı	
- Air scrubbers: 6 x \$120.00/day	\$	720.00
- Zip posts: 4 x \$5.00/day	\$	20.00

- Dehumidifier: 2 x \$115.00/per day	\$ 230.00
Materials:	\$ 293.84
- Air scrubber prefilters, tyvek suits, polyhangers, foil tape	
Sunday 5/14/23: (after hours)	
- Lead Remediation Tech: 1.5 hours x \$215.00/hr	\$ 322.50
Equipment:	
- Air scrubbers: 6 x \$120.00/day	\$ 720.00
- Zip posts: 4 x \$5.00/day	\$ 20.00
- Dehumidifier: 2 x \$115.00/per day	\$ 230.00
Monday 5/15/23:	
- Lead Remediation Tech: 1.75 hours x \$120.00/hr	\$ 210.00
- Remediation Tech: 7.75 hours x \$110.00/hr	\$ 852.50
Equipment:	
- Air scrubbers: 6 x \$120.00/day	\$ 720.00
- Zip posts: 4 x \$5.00/day	\$ 20.00
- Dehumidifier: 2 x \$115.00/per day	\$ 230.00
Materials:	
- Tyvek suits, air scrubber filters, duct tape	\$ 177.22
Tuesday 5/16/23:	
- Lead Remediation Tech: 5 hours x \$120.00/hr	\$ 600.00
Equipment:	
- Air scrubbers: 6 x \$120.00/day	\$ 720.00
- Zip posts: 4 x \$5.00/day	\$ 20.00
- Dehumidifier: 2 x \$115.00/per day	\$ 230.00
Materials:	
- Tyvek suits, respirator cartridge, antimicrobial wipes	\$ 92.80
Wednesday 5/17/23:	
- Lead Remediation Tech: 8 hours x \$120.00/hr	\$ 960.00
- Lead Remediation Tech: 1.5 hours x \$215.00/hr (after hours)	\$ 322.50
- Remediation Tech #1: 8 hours x \$110.00/hr	\$ 880.00
- Remediation Tech #1: 1 hours x \$200.00/hr (after hours)	\$ 200.00
- Remediation Tech #2: 5.25 hours x \$110.00/hr	\$ 577.50

- Remediation Tech #3: 3.75 hours x \$110.00/hr	\$ 412.50
Equipment:	
- Air scrubbers: 6 x \$120.00/day	\$ 720.00
- Zip posts: 4 x \$5.00/day	\$ 20.00
- Dehumidifier: 2 x \$115.00/per day	\$ 230.00
- HEPA vac usage: 1 hour x \$57.00/hr	\$ 57.00
- Extension cords: (2) 25', (1) 50'	\$ 20.00
Materials:	\$ 523.01
- Tyvek suits, air scrubber filters, respirator mask, respirator cartridges, nitrile gloves,	
trash bags, duct tape, shop vacuum dust bags, HEPA vacuum filter bags, wood sanding	
blocks, shoe handle wire brush, sandpaper pack, steel wool	
Thursday 5/18/23:	
- Lead Remediation Tech: 8 hours x \$120.00/hr	\$ 960.00
- Lead Remediation Tech: .75 hours x \$215.00/hr (after hours)	\$ 161.25
- Remediation Tech #1: 8 hours x \$110.00/hr	\$ 880.00
- Remediation Tech #1: 1.5 hours x \$200.00/hr (after hours)	\$ 300.00
- Remediation Tech #2: 8 hours x \$110.00/hr	\$ 880.00
- Remediation Tech #2: 1 hours x \$200.00/hr (after hours)	\$ 200.00
- Remediation Tech #3: 5.5 hours x \$110.00/hr	\$ 605.00
- Remediation Tech #4: 3.75 hours x \$110.00/hr	\$ 412.50
Equipment:	
- Air scrubbers: 6 x \$120.00/day	\$ 720.00
- Zip posts: 4 x \$5.00/day	\$ 20.00
- Dehumidifier: 2 x \$115.00/per day	\$ 230.00
- HEPA vac usage: 1 hour x \$57.00/hr	\$ 57.00
Materials:	\$ 492.07
- Tyvek suits, air scrubber filters, respirator cartridges, nitrile gloves, duct tape, double	
sided duct tape, 6 mil plastic, antimicrobial wipes	
Friday 5/19/23:	
- Lead Remediation Tech: 8 hours x \$120.00/hr	\$ 960.00
- Lead Remediation Tech: 1.75 hours x \$215.00/hr (after hours)	\$ 376.25
- Remediation Tech #1: 8 hours x \$110.00/hr	\$ 880.00
- Remediation Tech #1: 1.25 hours x \$200.00/hr (after hours)	\$ 250.00
- Remediation Tech #2: 6 hours x \$110.00/hr	\$ 660.00

- Remediation Tech #3: 3.75 hours x \$110.00/hr	\$ 412.50
- Remediation Tech #4: 3.5 hours x \$110.00/hr	\$ 385.00
Equipment:	
- Air scrubbers: 6 x \$120.00/day	\$ 720.00
- Zip posts: 4 x \$5.00/day	\$ 20.00
- Dehumidifier: 2 x \$115.00/per day	\$ 230.00
- HEPA vac usage: 1.25 hour x \$57.00/hr	\$ 71.25
Materials:	\$ 206.56
Tyvek suits, air scrubber filters, respirator cartridges, Ziploc bags	
Saturday 5/20/23: (after hours)	
- Lead Remediation Tech: 1.25 hours x \$215.00/hr	\$ 268.75
Equipment:	
- Air scrubbers: 6 x \$120.00/day	\$ 720.00
- Zip posts: 4 x \$5.00/day	\$ 20.00
- Dehumidifier: 2 x \$115.00/per day	\$ 230.00
Materials:	\$ 100.88
Tyvek suits, air scrubber filters	
Sunday 5/21/23: (after hours)	
- Lead Remediation Tech: 1.25 hours x \$215.00/hr	\$ 268.75
Equipment:	
- Air scrubbers: 6 x \$120.00/day	\$ 720.00
- Zip posts: 4 x \$5.00/day	\$ 20.00
- Dehumidifier: 2 x \$115.00/per day	\$ 230.00
Materials:	\$ 100.88
Tyvek suits, air scrubber filters	
Monday 5/22/23:	
- Project Manager: 1 hour x \$130.00/hr	\$ 130.00
- Lead Remediation Tech: 8 hours x \$120.00/hr	\$ 960.00
- Lead Remediation Tech: 1.75 hours x \$215.00/hr (after hours)	\$ 376.25
- Remediation Tech #1: 8 hours x \$110.00/hr	\$ 880.00
- Remediation Tech #1: 3.75 hours x \$200.00/hr (after hours)	\$ 750.00
- Remediation Tech #2: 8 hours x \$110.00/hr	\$ 880.00
- Remediation Tech #2: 2.25 hours x \$200.00/hr (after hours)	\$ 450.00

- Remediation Tech #3: 8 hours x \$110.00/hr	\$ 880.00
- Remediation Tech #3: 2 hours x \$200.00/hr (after hours)	\$ 400.00
- Remediation Tech #4: 4 hours x \$110.00/hr	\$ 440.00
- Logistics/procurement: 1 hour x \$99.00/hr	\$ 99.00
Equipment:	
- Air scrubbers: 6 x \$120.00/day	\$ 720.00
- Zip posts: 4 x \$5.00/day	\$ 20.00
- Dehumidifier: 2 x \$115.00/per day	\$ 230.00
- HEPA vac usage: 7.5 hours x \$57.00/hr	\$ 427.50
Materials:	\$ 836.49
Tyvek suits, air scrubber filters, respirator mask, respirator cartridges, walk off mats,	
antimicrobial, duct tape, double sided tape, zippers, 6 mil plastic	
Tuesday 5/23/23:	
- Project Manager: 1 hour x \$130.00/hr	\$ 130.00
- Lead Remediation Tech: 8 hours x \$120.00/hr	\$ 960.00
- Lead Remediation Tech: 1.75 hours x \$215.00/hr (after hours)	\$ 376.25
- Remediation Tech #1: 8 hours x \$110.00/hr	\$ 880.00
- Remediation Tech #1: 4 hours x \$200.00/hr (after hours)	\$ 800.00
- Remediation Tech #2: 8 hours x \$110.00/hr	\$ 880.00
- Remediation Tech #2: 3.5 hours x \$200.00/hr (after hours)	\$ 700.00
- Remediation Tech #3: 8 hours x \$110.00/hr	\$ 880.00
- Remediation Tech #3: 2.75 hours x \$200.00/hr (after hours)	\$ 550.00
- Remediation Tech #4: 4 hours x \$110.00/hr	\$ 440.00
Equipment:	
- Air scrubbers: 8 x \$120.00/day	\$ 960.00
- Zip posts: 12 x \$5.00/day	\$ 60.00
- Dehumidifier: 2 x \$115.00/per day	\$ 230.00
- HEPA vac usage: 6.5 hours x \$57.00/hr	\$ 370.00
Materials:	\$ 465.49
Tyvek suits, air scrubber filters, antimicrobial, HEPA vacuum filter bags, respirator filters,	
duct tape, trash bags, SharkBite caps	
Wednesday 5/24/23:	
- Project Manager: 1 hour x \$130.00/hr	\$ 130.00
- Lead Remediation Tech: 8 hours x \$120.00/hr	\$ 960.00

- Lead Remediation Tech: 2.5 hours x \$215.00/hr (after hours)	\$ 537.50
- Remediation Tech #1: 8 hours x \$110.00/hr	\$ 880.00
- Remediation Tech #1: 3.75 hours x \$200.00/hr (after hours)	\$ 750.00
- Remediation Tech #2: 8 hours x \$110.00/hr	\$ 880.00
- Remediation Tech #2: 3.75 hours x \$200.00/hr (after hours)	\$ 750.00
- Remediation Tech #3: 8 hours x \$110.00/hr	\$ 880.00
- Remediation Tech #3: 3 hours x \$200.00/hr (after hours)	\$ 600.00
- Remediation Tech #4: 3.25 hours x \$110.00/hr	\$ 357.50
- Logistics/procurement: 1 hour x \$99.00/hr	\$ 99.00
Equipment:	
- Air scrubbers: 8 x \$120.00/day	\$ 960.00
- Zip posts: 12 x \$5.00/day	\$ 60.00
- Dehumidifier: 2 x \$115.00/per day	\$ 230.00
- HEPA vac usage: 8.75 hours x \$57.00/hr	\$ 498.75
- Extension cords: (3) 25', (1) 50'	\$ 25.00
Materials:	\$ 404.72
Tyvek suits, air scrubber filters, nitrile gloves, antimicrobial	
Thursday 5/25/23:	
- Lead Remediation Tech: 8 hours x \$120.00/hr	\$ 960.00
- Lead Remediation Tech: 3 hours x \$215.00/hr (after hours)	\$ 645.00
- Remediation Tech #1: 8 hours x \$110.00/hr	\$ 880.00
- Remediation Tech #1: 3.5 hours x \$200.00/hr (after hours)	\$ 700.00
- Remediation Tech #2: 8 hours x \$110.00/hr	\$ 880.00
- Remediation Tech #2: 3.5 hours x \$200.00/hr (after hours)	\$ 700.00
- Remediation Tech #3: 8 hours x \$110.00/hr	\$ 880.00
- Remediation Tech #3: 2.25 hours x \$200.00/hr (after hours)	\$ 450.00
Equipment:	
- Air scrubbers: 8 x \$120.00/day	\$ 960.00
- Zip posts: 12 x \$5.00/day	\$ 60.00
- Dehumidifier: 2 x \$115.00/per day	\$ 230.00
- HEPA vac usage: 1 hours x \$57.00/hr	\$ 57.00
- Air duct cleaning machine: \$300.00/day	\$ 300.00
Materials:	\$ 415.51
Tyvek suits, air scrubber filters, respirator mask, nitrile gloves	

		,
Friday 5/26/23:		
- Lead Remediation Tech: 8 hours x \$120.00/hr	\$	960.00
- Lead Remediation Tech: 3 hours x \$215.00/hr (after hours)	\$	645.00
- Remediation Tech #1: 8 hours x \$110.00/hr	\$	880.00
- Remediation Tech #1: 4 hours x \$200.00/hr (after hours)	\$	800.00
- Remediation Tech #2: 8 hours x \$110.00/hr	\$	880.00
- Remediation Tech #2: 3.75 hours x \$200.00/hr (after hours)	\$	750.00
- Remediation Tech #3: 7.75 hours x \$110.00/hr	\$	852.50
- Remediation Tech #4: 4.25 hours x \$110.00/hr	\$	467.50
- Logistics/procurement: 1 hour x \$99.00/hr	\$	99.00
Equipment:		
- Air scrubbers: 8 x \$120.00/day	\$	960.00
- Zip posts: 10 x \$5.00/day	\$	50.00
- Dehumidifier: 2 x \$115.00/per day	\$	230.00
- HEPA vac usage: 10.5 hours x \$57.00/hr	\$	598.50
- Air duct cleaning machine: \$300.00/day	\$	300.00
Materials:	\$	904.60
Tyvek suits, air scrubber filters, duct tape, double sided tape, nitrile gloves, trash bags,		
respirator filters, rags, antimicrobial, cone with insulation		
0 / 1 5/07/00 / 6/ 1		
Saturday 5/27/23: (after hours)	•	4 004 05
- Lead Remediation Tech: 4.75 hours x \$215.00/hr (after hours)	\$	1,021.25
- Remediation Tech #1: 9.25 hours x \$200.00/hr (after hours)	\$	1,850.00
- Remediation Tech #2: 4.75 hours x \$200.00/hr (after hours)	\$	950.00
- Remediation Tech #3: 4.5 hours x \$200.00/hr (after hours)	\$	900.00
- Remediation Tech #4: 4 hours x \$200.00/hr (after hours)	\$	800.00
- Remediation Tech #5: 1.5 hours x \$200.00/hr (after hours)	\$	300.00
Equipment:		
- Air scrubbers: 8 x \$120.00/day	\$	960.00
- Zip posts: 10 x \$5.00/day	\$	50.00
- Dehumidifier: 2 x \$115.00/per day	\$	230.00
- HEPA vac usage: 1.5 hours x \$57.00/hr	\$	85.50
Sunday 5/28/23: (after hours)		
- Lead Remediation Tech: 1 hours x \$215.00/hr (after hours)	\$	215.00
Equipment:		

- Air scrubbers: 8 x \$120.00/day	I ¢	960.00
- Air scrubbers: 8 x \$120.00/day - Zip posts: 10 x \$5.00/day	\$	960.00 50.00
		230.00
- Dehumidifier: 2 x \$115.00/per day  Materials: 5/27/23 - 5/28/23	\$	519.96
	\$	519.90
Tyvek suits, air scrubber filters, trash bags, duct tape, antimicrobial, antimicrobial wipes,		
nitrile gloves, respirator filter		
Monday 5/29/23:		
- Lead Remediation Tech: 1 hours x \$120.00/hr	\$	120.00
Equipment:		
- Air scrubbers: 8 x \$120.00/day	\$	960.00
- Zip posts: 10 x \$5.00/day	\$	50.00
- Dehumidifier: 2 x \$115.00/per day	\$	230.00
Materials:	\$	68.91
Air scrubber filters		
Гuesday 5/30/23:		
- Project Manager: 1.5 hours x \$130.00/hr	\$	195.00
- Testing Technician: 1 hour x \$130.00/hr	\$	130.00
- Base testing: 2 samples	\$	500.00
- Additional sample	\$	85.00
- Expedited results: 3 x \$75.00/sample	\$	225.00
- Lead Remediation Tech: 1 hour x \$120.00/hr	\$	120.00
- Remediation Tech: 1 hour x \$110.00/hr	\$	110.00
- Admin: 2.25 hours x \$95.00/hr	\$	213.75
Equipment:		
- Zip posts: 10 x \$5.00/day	\$	50.00
Materials:	\$	45.68
Tyvek suit, nitrile gloves, respirator cartridge		
Wednesday 5/31/23:		
- Lead Remediation Tech: 2.25 hour x \$120.00/hr	\$	270.00
- Remediation Tech: 1.25 hour x \$110.00/hr	\$	137.50
- Construction Tech #1: 4.75 hours x \$99.00/hr	\$	470.25
- Construction Tech #2: 3.75 hours x \$99.00/hr	\$	371.25
- Admin: 3.25 hours x \$95.00/hr	\$	308.75

- Logistics/procurement: 2.75 hours x \$99.00/hr	\$	272.25
- Decontamination Fee: 1 hour x \$97.50/hr	\$	97.50
Equipment:		
- Air scrubbers: 2 x \$120.00/day	\$	240.00
Materials:	\$	687.73
Tyvek suit, zipper, double sided tape, duct tape, nitrile gloves, ceiling tile replacements		
Thursday 6/1/23:		
- Project Manager: 1.75 hours x \$130.00/hr	\$	227.50
- Lead Remediation Tech: 8 hours x \$120.00/hr	\$	960.00
- Lead Remediation Tech: 1.75 hours x \$215.00/hr (after hours)	\$	376.25
- Remediation Tech #1: 5.5 hours x \$110.00/hr	\$	605.00
- Remediation Tech #2: 5.5 hours x \$110.00/hr	\$	522.50
- Logistics/procurement: 8.75 hours x \$99.00/hr	\$	866.25
- Admin: 1 hour x \$95.00	\$	95.00
Equipment:		
- HEPA vac usage: 1.25 hours x \$57.00/hr	\$	71.25
- Air scrubbers: 2 x \$120.00/day	\$	240.00
Materials:	\$	1,046.31
Tyvek suits, air scrubber filters, respirator cartridge, trash bags, plastic, duct tape,		
double sided tape, drywall tape, antimicrobial, antimicrobial wipes, nitrile gloves,		
insulation, solar seal, caulking, wallboard, lacquer,		
Friday 6/2/23:		
- Project Manager: 1.5 hours x \$130.00/hr	\$	195.00
- Lead Remediation Tech: 1.5 hour x \$120.00/hr	\$	180.00
- Construction Tech #1: 8 hours x \$99.00/hr	\$	792.00
- Construction Tech #1: 1.5 hours x \$175.00/hr	\$	262.50
- Construction Tech #2: 7 hours x \$99.00/hr	\$	693.00
- Construction Tech #3: 3 hours x \$99.00/hr	\$	297.00
- Construction Tech #4: 2.25 hours x \$99.00/hr	\$	222.75
Equipment:		
- Air scrubbers: 2 x \$120.00/day	\$	240.00
Materials:	\$	54.82
Respirator filter, limestone sealant, plywood, staples, sink stopper		
•	•	•

Saturday 6/3/23: (after hours)	
- Lead Remediation Tech: 1 hour x \$215.00/hr (after hours)	\$ 215.00
Equipment:	
- Air scrubbers: 2 x \$120.00/day	\$ 240.00
Materials:	\$ 14.34
Tyvek suits	
Monday 6/5/23:	
- Project Manager: 1.25 hours x \$130.00/hr	\$ 162.50
- Testing Tech: 1 hour x \$130.00/hr	\$ 130.00
- Base testing: 2 samples	\$ 500.00
- Expedited results: 2 x \$75.00/sample	\$ 150.00
- Lead Remediation Tech: 1 hour x \$120.00/hr	\$ 120.00
- Construction Tech #1: 8 hours x \$99.00/hr	\$ 792.00
- Construction Tech #1: 2.25 hours x \$175.00/hr	\$ 393.75
- Logistics/procurement: 1 hour x \$99.00/hr	\$ 99.00
Materials:	\$ 157.64
Tyvek suit, nitrile gloves, respirator filter, weatherstripping, corner beading,	
white board, drywall tape, drywall knife blades, trash bags	
Tuesday 6/6/23:	
- Project manager: 1 hour x \$130.00/hr	\$ 130.00
- Logistics/procurement: 1.25 hours x \$99/hr	\$ 123.75
Materials:	\$ 1,035.12
Sealants, pack of orange tips, black mix kits, mud, sanding sponges, hawk	
Wednesday 6/7/23:	
- Construction Tech: 8 hours x \$99.00/hr	\$ 792.00
- Construction Tech: 2.5 hours x \$175.00/hr (after hours)	\$ 437.50
Materials:	\$ 698.62
Paint and sheetrock	
Thursday 6/8/23:	
- Project Manager: 1 hour x \$130.00/hr	\$ 130.00
- Construction Tech #1: 8 hours x \$99.00/hr	\$ 792.00
- Construction Tech #1: 2 hours x \$175.00/hr (after hours)	\$ 350.00

O	١٨	<b>500.05</b>
- Construction Tech #2: 5.75 hours x \$99.00/hr	\$	569.25
- Construction Tech #3: 5.75 hours x \$99.00/hr	\$	569.25
- Construction Tech #4: 5.75 hours x \$99.00/hr	\$	569.25
- Construction Tech #5: 5.5 hours x \$99.00/hr	\$	544.50
- Logistics/procurement: 4.5 hours x \$99.00/hr	\$	445.50
- Admin: 5 hours x \$95.00/hr	\$	475.00
Friday 6/9/23:		
- Project Manager: 1 hour x \$130.00/hr	\$	130.00
- Construction Tech: 5 hours x \$99.00/hr	\$	495.00
Monday 6/12/23:		
- Construction Tech #1: 8 hours x \$99.00/hr	\$	792.00
- Construction Tech #1: 2 hours x \$175.00/hr (after hours)	\$	350.00
Materials:	\$	13.65
Mud		
Tuesday 6/13/23:		
- Project Manager: 1.5 hour x \$130.00/hr	\$	195.00
- Construction Tech: 8 hours x \$99.00/hr	\$	792.00
- Admin" 1.25 hours x \$95.00/hr	\$	118.75
Wednesday 6/14/23:		
- Project Manager: 1 hour x \$130.00/hr	\$	130.00
- Construction Tech #1: 8 hours x \$99.00/hr	\$	792.00
- Construction Tech #1: 2 hours x \$175.00/hr (after hours)	\$	350.00
- Construction Tech #2: 2.5 hours x \$99.00/hr	\$	247.50
- Construction Tech #3: 2.5 hours x \$99.00/hr	\$	247.50
- Admin" 1.25 hours x \$95.00/hr	\$	118.75
Materials:	\$	224.10
Velvet rollers, primer, finish, weather sealing,		
Thursday 6/15/23:		
- Project Manager: 1 hour x \$130.00/hr	\$	130.00
- Construction Tech #1: 3 hours x \$99.00/hr	\$	297.00
- Construction Tech #2: 1.5 hours x \$99.00/hr	\$	148.50

	I	
Friday 6/16/23:		
- Construction Tech #1: 1.5 hours x \$99.00/hr	\$	148.50
- Construction Tech #2: 1 hour x \$99.00/hr	\$	99.00
- Construction Tech #3: 1 hour x \$99.00/hr	\$	99.00
- Construction Tech #4: 1 hour x \$99.00/hr	\$	99.00
Monday 6/19/23:		
- Construction Tech: 4.5 hours x \$99.00/hr	\$	445.50
- Admin: 1 hour x \$95.00/hr	\$	95.00
Materials:	\$	152.71
Sealant		
Tuesday 6/20/23:		
- Construction Tech: 1 hour x \$99.00/hr	\$	99.00
- Admin: 1 hour x \$95.00/hr	\$	95.00
Wednesday 6/21/23:		
- Logistics/procurement: 1 hour x \$99.00/hr	\$	99.00
- Admin: 1 hour x \$95.00/hr	\$	95.00
Materials:	\$	275.96
Cove base & adhesive		
Thursday 6/22/23:		
- Admin: 1 hour x \$95.00/hr	\$	95.00
Friday 6/23/23:		
- Construction Tech #1: 3.25 hour x \$99.00/hr	\$	321.75
- Construction Tech #2: 1.75 hour x \$99.00/hr	\$	173.25
- Construction Tech #3: 1 hour x \$99.00/hr	\$	99.00
- Admin: 1 hour x \$95.00/hr	\$	95.00
Monday 6/26/23:		
- Project Manager: 1.75 hours x \$130.00/hr	\$	227.50
- Testing Tech: 1.75 hours x \$130.00/hr	\$	227.50
- Base price: 2 samples	\$	500.00

- Construction Tech #1: 2 hours x \$99.00/hr - Construction Tech #2: 2 hours x \$99.00/hr - Construction Tech #3: 2.5 hours x \$99.00/hr - Construction Tech #3: 2.5 hours x \$99.00/hr - Construction Tech #3: 2.5 hours x \$99.00/hr - Construction Tech #4: 1.25 hours x \$99.00/hr - Logistics/procurement: 1.5 hours x \$10.00/hr - Remediation Tech #1: 4.25 hours x \$110.00 - Remediation Tech #1: 4.25 hours x \$110.00 - Remediation Tech #1: 4 hours x \$110.00 - Remediation Tech #1: 4 hours x \$110.00 - Remediation Tech #1: 4 hours x \$110.00 - Remediation Tech #2: 2 x \$120.00/hr - All rescribers: 2 x \$120.00/hr - Materials: - Air scrubbers: 2 x \$120.00/hr - Materials: - Remediation Tech: 1 hour x \$110.00/hr - Equipment: - Air scrubbers: 2 x \$120.00/hr - All rescribers: 2 x \$120.00/hr -	1	1	
- Construction Tech #2: 6 hours x \$99.00/hr \$ 247.50  - Construction Tech #3: 2.5 hours x \$99.00/hr \$ 247.50  - Construction Tech #4: 1.25 hours x \$99.00/hr \$ 123.75  - Construction Tech #5: 1.25 hours x \$99.00/hr \$ 123.75  - Construction Tech #5: 1.25 hours x \$99.00/hr \$ 123.75  - Logistics/procurement: 1.5 hours x \$99.00/hr \$ 148.50  Materials: \$ 433.41  Cove base, carpet, carpet glue, paint, & shop vac bag  Tuesday 6/27/23:  - Project Manager: 1 hour x \$130.00/hr \$ 130.00  - Remediation Tech #1: 4.25 hours x \$110.00 \$ 467.50  - Remediation Tech #1: 4 hours x \$110.00 \$ 467.50  - Remediation Tech #1: 4 hours x \$110.00 \$ 40.00  - Construction Tech: 7.75 hours x \$99.00  Equipment:  - Air scrubbers: 2 x \$120.00/hr \$ 240.00  Materials: \$ 341.59  Zippers, Duct tape, Double sided tape, multitool blade, plastic, trash bags, respirator cartridges, antimicrobial, Tyvek suits, nitrile gloves, rags, & air scrubber filters  Wednesday 6/28/23:  - Remediation Tech: 1 hour x \$110.00/hr  Equipment:  - Air scrubbers: 2 x \$120.00/hr \$ 240.00  Materials: \$ 33.39  Tyvek suit & air scrubber filters  Thursday 6/29/23:  Equipment:  - Air scrubbers: 2 x \$120.00/hr \$ 240.00  Materials: \$ 33.39  Tyvek suit & air scrubber filters	- Construction Tech #1: 8 hours x \$99.00/hr	\$	792.00
- Construction Tech #3: 2.5 hours x \$99.00/hr - Construction Tech #4: 1.25 hours x \$99.00/hr - Construction Tech #4: 1.25 hours x \$99.00/hr - Construction Tech #5: 1.25 hours x \$99.00/hr - Logistics/procurement: 1.5 hours x \$99.00/hr - Remediation Tech #1: 4.25 hours x \$110.00 - Remediation Tech #1: 4.25 hours x \$110.00 - Remediation Tech #1: 4 hours x \$110.00 - Construction Tech: 7.75 hours x \$99.00 - Construction Tech: 7.75 hours x \$99.00 - Construction Tech: 7.75 hours x \$99.00 - Logipment: - Air scrubbers: 2 x \$120.00/hr - Remediation Tech: 1 hour x \$110.00/hr - Remediation Tech: 2 x \$120.00/hr - Remediation Tech: 1 hour x \$110.00/hr - Remediation Tech: 1 hour x \$110.00/hr - Remediation Tech: 2 x \$120.00/hr - Remediation Tech: 1 hour x \$110.00/hr - Remediation Tech: 1 ho	- Construction Tech #1: 2 hours x \$175.00/hr (after hours)	\$	350.00
- Construction Tech #4: 1.25 hours x \$99.00/hr \$ 123.75 - Construction Tech #5: 1.25 hours x \$99.00/hr \$ 123.75 - Logistics/procurement: 1.5 hours x \$99.00/hr \$ 148.50 Materials: \$ 433.41  Cove base, carpet, carpet glue, paint, & shop vac bag  Tuesday 6/27/23: - Project Manager: 1 hour x \$130.00/hr \$ 130.00 - Remediation Tech #1: 4.25 hours x \$110.00 \$ 467.50 - Remediation Tech #1: 4 hours x \$110.00 \$ 400.00 - Construction Tech: 7.75 hours x \$99.00 \$ 767.25  Equipment: - Air scrubbers: 2 x \$120.00/hr \$ 240.00 Materials: \$ 341.59  Zippers, Duct tape, Double sided tape, multitool blade, plastic, trash bags, respirator cartridges, antimicrobial, Tyvek suits, nitrile gloves, rags, & air scrubber filters  Wednesday 6/28/23: - Remediation Tech: 1 hour x \$110.00/hr  Equipment: - Air scrubbers: 2 x \$120.00/hr \$ 110.00 Materials: \$ 33.39  Tyvek suit & air scrubber filters  Thursday 6/29/23: Equipment: - Air scrubbers: 2 x \$120.00/hr \$ 240.00 Materials: \$ 33.39  Tyvek suit & air scrubber filters  Friday 6/30/23:	- Construction Tech #2: 6 hours x \$99.00/hr	\$	594.00
- Construction Tech #6: 1.25 hours x \$99.00/hr - Logistics/procurement: 1.5 hours x \$99.00/hr - Logistics/procurement: 1.5 hours x \$99.00/hr - Logistics/procurement: 1.5 hours x \$99.00/hr - Materials:  Cove base, carpet, carpet glue, paint, & shop vac bag  Tuesday 6/27/23: - Project Manager: 1 hour x \$130.00/hr - Remediation Tech #1: 4.25 hours x \$110.00 - Remediation Tech #1: 4 hours x \$110.00 - Construction Tech: 7.75 hours x \$99.00 - Construction Tech: 7.75 hours x \$99.00 - Construction Tech: 2 x \$120.00/hr - Air scrubbers: 2 x \$120.00/hr - Air scrubbers: 2 x \$120.00/hr - Materials: - Zippers, Duct tape, Double sided tape, multitool blade, plastic, trash bags, respirator cartridges, antimicrobial, Tyvek suits, nitrile gloves, rags, & air scrubber filters  Wednesday 6/28/23: - Remediation Tech: 1 hour x \$110.00/hr - Equipment: - Air scrubbers: 2 x \$120.00/hr	- Construction Tech #3: 2.5 hours x \$99.00/hr	\$	247.50
- Logistics/procurement: 1.5 hours x \$99.00/hr  Materials:  Cove base, carpet, carpet glue, paint, & shop vac bag  Tuesday 6/27/23:  - Project Manager: 1 hour x \$130.00/hr - Remediation Tech #1: 4.25 hours x \$110.00 - Remediation Tech #1: 4 hours x \$110.00 - Construction Tech: 7.75 hours x \$99.00 - Construction Tech: 7.75 hours x \$99.00 - Air scrubbers: 2 x \$120.00/hr - Air scrubbers: 2 x \$120.00/hr - Air scrubbers: 2 x \$120.00/hr - Air scrubders: 2 x \$120.00/hr - Air scrubbers: 2 x \$120.00/hr	- Construction Tech #4: 1.25 hours x \$99.00/hr	\$	123.75
Materials:       \$ 433.41         Cove base, carpet, carpet glue, paint, & shop vac bag       \$ 130.00         Tuesday 6/27/23:       \$ 130.00         - Project Manager: 1 hour x \$130.00/hr       \$ 467.50         - Remediation Tech #1: 4.25 hours x \$110.00       \$ 440.00         - Construction Tech: 7.75 hours x \$99.00       \$ 767.25         Equipment:       - Air scrubbers: 2 x \$120.00/hr       \$ 240.00         Materials:       \$ 341.59         Zippers, Duct tape, Double sided tape, multitool blade, plastic, trash bags, respirator cartridges, antimicrobial, Tyvek suits, nitrile gloves, rags, & air scrubber filters         Wednesday 6/28/23:       - Remediation Tech: 1 hour x \$110.00/hr       \$ 110.00         Equipment:       - Air scrubbers: 2 x \$120.00/hr       \$ 33.39         Tyvek suit & air scrubber filters       \$ 33.39         Thursday 6/29/23:       Equipment:       - Air scrubbers: 2 x \$120.00/hr       \$ 240.00         Alterials:       \$ 33.39         Tyvek suit & air scrubber filters       \$ 33.39         Tyvek suit & air scrubber filters       \$ 33.39	- Construction Tech #5: 1.25 hours x \$99.00/hr	\$	123.75
Cove base, carpet, carpet glue, paint, & shop vac bag  Tuesday 6/27/23: - Project Manager: 1 hour x \$130.00/hr \$ 130.00 - Remediation Tech #1: 4.25 hours x \$110.00 \$ 467.50 - Remediation Tech #1: 4 hours x \$110.00 \$ 440.00 - Construction Tech: 7.75 hours x \$99.00 \$ 767.25 Equipment: - Air scrubbers: 2 x \$120.00/hr \$ 240.00 Materials: Zippers, Duct tape, Double sided tape, multitool blade, plastic, trash bags, respirator cartridges, antimicrobial, Tyvek suits, nitrile gloves, rags, & air scrubber filters  Wednesday 6/28/23: - Remediation Tech: 1 hour x \$110.00/hr Equipment: - Air scrubbers: 2 x \$120.00/hr \$ 110.00 Materials: Tyvek suit & air scrubber filters  Thursday 6/29/23: Equipment: - Air scrubbers: 2 x \$120.00/hr \$ 240.00 Materials: Tyvek suit & air scrubber filters  Friday 6/30/23:	- Logistics/procurement: 1.5 hours x \$99.00/hr	\$	148.50
Tuesday 6/27/23: - Project Manager: 1 hour x \$130.00/hr \$ 130.00 - Remediation Tech #1: 4.25 hours x \$110.00 \$ 467.50 - Remediation Tech #1: 4 hours x \$110.00 \$ 440.00 - Construction Tech: 7.75 hours x \$99.00 \$ 767.25 Equipment: - Air scrubbers: 2 x \$120.00/hr \$ 240.00 Materials: Zippers, Duct tape, Double sided tape, multitool blade, plastic, trash bags, respirator cartridges, antimicrobial, Tyvek suits, nitrile gloves, rags, & air scrubber filters  Wednesday 6/28/23: - Remediation Tech: 1 hour x \$110.00/hr \$ 110.00 Equipment: - Air scrubbers: 2 x \$120.00/hr \$ 240.00 Materials: Tyvek suit & air scrubber filters  Thursday 6/29/23: Equipment: - Air scrubbers: 2 x \$120.00/hr \$ 240.00 Materials: Tyvek suit & air scrubber filters  Friday 6/30/23:	Materials:	\$	433.41
- Project Manager: 1 hour x \$130.00/hr - Remediation Tech #1: 4.25 hours x \$110.00 - Remediation Tech #1: 4.25 hours x \$110.00 - Remediation Tech #1: 4 hours x \$110.00 - Construction Tech: 7.75 hours x \$99.00  Equipment: - Air scrubbers: 2 x \$120.00/hr  Materials: Zippers, Duct tape, Double sided tape, multitool blade, plastic, trash bags, respirator cartridges, antimicrobial, Tyvek suits, nitrile gloves, rags, & air scrubber filters  Wednesday 6/28/23: - Remediation Tech: 1 hour x \$110.00/hr  Equipment: - Air scrubbers: 2 x \$120.00/hr  Materials: Tyvek suit & air scrubber filters  Thursday 6/29/23: Equipment: - Air scrubbers: 2 x \$120.00/hr  Materials: Thursday 6/29/23: Equipment: - Air scrubbers: 2 x \$120.00/hr  Materials: Tyvek suit & air scrubber filters  Friday 6/30/23:	Cove base, carpet, carpet glue, paint, & shop vac bag		
- Remediation Tech #1: 4.25 hours x \$110.00	Tuesday 6/27/23:		
- Remediation Tech #1: 4 hours x \$110.00 - Construction Tech: 7.75 hours x \$99.00  Equipment: - Air scrubbers: 2 x \$120.00/hr  Materials: Zippers, Duct tape, Double sided tape, multitool blade, plastic, trash bags, respirator cartridges, antimicrobial, Tyvek suits, nitrile gloves, rags, & air scrubber filters  Wednesday 6/28/23: - Remediation Tech: 1 hour x \$110.00/hr  Equipment: - Air scrubbers: 2 x \$120.00/hr  Materials: Tyvek suit & air scrubber filters  Thursday 6/29/23: Equipment: - Air scrubbers: 2 x \$120.00/hr  \$ 33.39  Tyvek suit & air scrubber filters  Friday 6/30/23:	- Project Manager: 1 hour x \$130.00/hr	\$	130.00
- Construction Tech: 7.75 hours x \$99.00  Equipment: - Air scrubbers: 2 x \$120.00/hr  Materials: Zippers, Duct tape, Double sided tape, multitool blade, plastic, trash bags, respirator cartridges, antimicrobial, Tyvek suits, nitrile gloves, rags, & air scrubber filters  Wednesday 6/28/23: - Remediation Tech: 1 hour x \$110.00/hr  Equipment: - Air scrubbers: 2 x \$120.00/hr  Materials: Tyvek suit & air scrubber filters  Thursday 6/29/23: Equipment: - Air scrubbers: 2 x \$120.00/hr  \$ 33.39  Tyvek suit & air scrubber filters  Friday 6/30/23:	- Remediation Tech #1: 4.25 hours x \$110.00	\$	467.50
Equipment: - Air scrubbers: 2 x \$120.00/hr  Materials: Zippers, Duct tape, Double sided tape, multitool blade, plastic, trash bags, respirator cartridges, antimicrobial, Tyvek suits, nitrile gloves, rags, & air scrubber filters  Wednesday 6/28/23: - Remediation Tech: 1 hour x \$110.00/hr  Equipment: - Air scrubbers: 2 x \$120.00/hr  Materials: Thursday 6/29/23: Equipment: - Air scrubbers: 2 x \$120.00/hr  Materials: Thursday 6/29/23: Equipment: - Air scrubbers: 2 x \$120.00/hr  Materials: Tyvek suit & air scrubber filters  Friday 6/30/23:	- Remediation Tech #1: 4 hours x \$110.00	\$	440.00
- Air scrubbers: 2 x \$120.00/hr \$ 240.00 \$ Materials: \$ 341.59 \$ Zippers, Duct tape, Double sided tape, multitool blade, plastic, trash bags, respirator cartridges, antimicrobial, Tyvek suits, nitrile gloves, rags, & air scrubber filters \$ Wednesday 6/28/23: - Remediation Tech: 1 hour x \$110.00/hr \$ 110.00 Equipment: - Air scrubbers: 2 x \$120.00/hr \$ 240.00 \$ Materials: \$ 33.39 \$ Tyvek suit & air scrubber filters \$ \$ 240.00 \$ Materials: \$ 33.39 \$ Tyvek suit & air scrubber filters \$ \$ 33.39 \$ Tyvek suit & air scrubber filters \$ \$ 53.39 \$ Tyvek suit & air scrubber filters \$ 50.00 \$ \$ 33.39 \$ Tyvek suit & air scrubber filters \$ 50.00 \$ \$ 33.39 \$ Tyvek suit & air scrubber filters \$ 50.00 \$ \$ 33.39 \$ Tyvek suit & air scrubber filters \$ 50.00 \$ \$ 33.39 \$ Tyvek suit & air scrubber filters	- Construction Tech: 7.75 hours x \$99.00	\$	767.25
Materials:  Zippers, Duct tape, Double sided tape, multitool blade, plastic, trash bags, respirator cartridges, antimicrobial, Tyvek suits, nitrile gloves, rags, & air scrubber filters  Wednesday 6/28/23:  - Remediation Tech: 1 hour x \$110.00/hr  Equipment:  - Air scrubbers: 2 x \$120.00/hr  Materials:  Thursday 6/29/23:  Equipment:  - Air scrubbers: 2 x \$120.00/hr  \$ 33.39  Tyvek suit & air scrubber filters  Thursday 6/29/23:  Equipment:  - Air scrubbers: 2 x \$120.00/hr  \$ 33.39  Tyvek suit & air scrubber filters  Friday 6/30/23:	Equipment:		
Zippers, Duct tape, Double sided tape, multitool blade, plastic, trash bags, respirator cartridges, antimicrobial, Tyvek suits, nitrile gloves, rags, & air scrubber filters  Wednesday 6/28/23:  - Remediation Tech: 1 hour x \$110.00/hr \$ 110.00  Equipment:  - Air scrubbers: 2 x \$120.00/hr \$ 240.00  Materials: \$ 33.39  Tyvek suit & air scrubber filters  Thursday 6/29/23: Equipment:  - Air scrubbers: 2 x \$120.00/hr \$ 240.00  Materials: \$ 33.39  Tyvek suit & air scrubber filters  Friday 6/30/23:	- Air scrubbers: 2 x \$120.00/hr	\$	240.00
respirator cartridges, antimicrobial, Tyvek suits, nitrile gloves, rags, & air scrubber filters  Wednesday 6/28/23: - Remediation Tech: 1 hour x \$110.00/hr \$ 110.00  Equipment: - Air scrubbers: 2 x \$120.00/hr \$ 240.00  Materials: \$ 33.39  Tyvek suit & air scrubber filters  Thursday 6/29/23: Equipment: - Air scrubbers: 2 x \$120.00/hr \$ 240.00  Materials: \$ 33.39  Tyvek suit & air scrubber filters  Friday 6/30/23:	Materials:	\$	341.59
Wednesday 6/28/23:       \$ 110.00         Equipment:       \$ 240.00         - Air scrubbers: 2 x \$120.00/hr       \$ 33.39         Tyvek suit & air scrubber filters       \$ 33.39         Thursday 6/29/23:       Equipment:         - Air scrubbers: 2 x \$120.00/hr       \$ 240.00         Materials:       \$ 33.39         Tyvek suit & air scrubber filters       \$ 33.39	Zippers, Duct tape, Double sided tape, multitool blade, plastic, trash bags,		
- Remediation Tech: 1 hour x \$110.00/hr  Equipment:  - Air scrubbers: 2 x \$120.00/hr  Materials:  Thursday 6/29/23:  Equipment:  - Air scrubbers: 2 x \$120.00/hr  \$ 33.39  Tyvek suit & air scrubber filters  Thursday 6/29/23:  Equipment:  - Air scrubbers: 2 x \$120.00/hr  \$ 340.00  Materials:  Tyvek suit & air scrubber filters  Friday 6/30/23:	respirator cartridges, antimicrobial, Tyvek suits, nitrile gloves, rags, & air scrubber filters		
- Remediation Tech: 1 hour x \$110.00/hr  Equipment:  - Air scrubbers: 2 x \$120.00/hr  Materials:  Thursday 6/29/23:  Equipment:  - Air scrubbers: 2 x \$120.00/hr  \$ 33.39  Tyvek suit & air scrubber filters  Thursday 6/29/23:  Equipment:  - Air scrubbers: 2 x \$120.00/hr  \$ 340.00  Materials:  Tyvek suit & air scrubber filters  Friday 6/30/23:			
Equipment: - Air scrubbers: 2 x \$120.00/hr \$ 240.00  Materials: \$ 33.39  Tyvek suit & air scrubber filters  Thursday 6/29/23: Equipment: - Air scrubbers: 2 x \$120.00/hr \$ 240.00  Materials: \$ 33.39  Tyvek suit & air scrubber filters  Friday 6/30/23:	Wednesday 6/28/23:		
- Air scrubbers: 2 x \$120.00/hr \$ 240.00 Materials: \$ 33.39 Tyvek suit & air scrubber filters  Thursday 6/29/23: Equipment: - Air scrubbers: 2 x \$120.00/hr \$ 240.00 Materials: \$ 33.39 Tyvek suit & air scrubber filters  Friday 6/30/23:	- Remediation Tech: 1 hour x \$110.00/hr	\$	110.00
Materials: Tyvek suit & air scrubber filters  Thursday 6/29/23: Equipment: - Air scrubbers: 2 x \$120.00/hr \$ 240.00 Materials: Tyvek suit & air scrubber filters  Friday 6/30/23:	Equipment:		
Tyvek suit & air scrubber filters  Thursday 6/29/23: Equipment: - Air scrubbers: 2 x \$120.00/hr \$ 240.00 Materials: \$ 33.39  Tyvek suit & air scrubber filters  Friday 6/30/23:	- Air scrubbers: 2 x \$120.00/hr	\$	240.00
Thursday 6/29/23:  Equipment: - Air scrubbers: 2 x \$120.00/hr \$ 240.00  Materials: \$ 33.39  Tyvek suit & air scrubber filters  Friday 6/30/23:	Materials:	\$	33.39
Equipment: - Air scrubbers: 2 x \$120.00/hr  Materials:  Tyvek suit & air scrubber filters  Friday 6/30/23:	Tyvek suit & air scrubber filters		
Equipment: - Air scrubbers: 2 x \$120.00/hr  Materials:  Tyvek suit & air scrubber filters  Friday 6/30/23:	Thursday 6/29/23:		
- Air scrubbers: 2 x \$120.00/hr \$ 240.00 \$ 33.39 Tyvek suit & air scrubber filters Friday 6/30/23:			
Materials: \$ 33.39  Tyvek suit & air scrubber filters  Friday 6/30/23:		\$	240.00
Tyvek suit & air scrubber filters Friday 6/30/23:			
		Ť	
- Testing Tech: 1.75 hours x \$130.00/hr \$ 227.50	Friday 6/30/23:		
	- Testing Tech: 1.75 hours x \$130.00/hr	\$	227.50

- Base Testing price	\$ 500.00
- Expedited results: 2 x \$75.00/sample	\$ 150.00
- Remediation Tech: 1.5 hours x \$110.00/hr	\$ 165.00
Saturday 7/1/23: (after hours)	
- Construction Tech #1: 12.25 hours x \$175.00/hr	\$ 2,143.75
- Construction Tech #2: 9.25 hours x \$175.00/hr	\$ 1,618.75
Materials:	\$ 228.29
Countertop, copper pipe, shut off valve, & shark bite coupler	
Sunday 7/2/23: (after hours)	
- Construction Tech #1: 6.5 hours x \$175.00/hr	\$ 1,137.50
- Construction Tech #2: 5.5 hours x \$175.00/hr	\$ 962.50
Monday 7/3/23:	
- Construction Tech #1: 8 hours x \$99.00/hr	\$ 792.00
- Construction Tech #1: 4.5 hours x \$175.00/hr (after hours)	\$ 787.50
- Construction Tech #2: 8 hours x \$99.00/hr	\$ 792.00
- Construction Tech #2: 3.75 hours x \$175.00/hr (after hours)	\$ 656.25
- Construction Tech #3: 8 hours x \$99.00/hr	\$ 792.00
- Construction Tech #3: 3.75 hours x \$175.00/hr (after hours)	\$ 656.25
- Construction Tech #4: 8 hours x \$99.00/hr	\$ 792.00
- Construction Tech #4: 2 hours x \$175.00/hr (after hours)	\$ 350.00
- Construction Tech #5: 6.5 hours x \$99.00/hr	\$ 643.50
- Construction Tech #6: 2.75 hours x \$99.00/hr	\$ 272.25
- Logistics/procurement: 1 hour x \$99.00/hr	\$ 99.00
Materials:	\$ 378.13
Glass frame panel, straight stop, screen cleaner, wall base, primer, spacers, utility,	
deco plate, grid, microfiber rollers, paint, & carpet	
Tuesday 7/4/23:	
- Construction Tech #1: 7 hours x \$99.00/hr	\$ 693.00
- Construction Tech #2: 5.25 hours x \$99.00/hr	\$ 519.75
- Construction Tech #3: 1 hour x \$99.00/hr	\$ 99.00
Materials:	\$ 152.27
Shelf support, outlet shim, mounting tape, paint, brass picture hanging kit, washers,	

p-trap kit, paint & primer		
Wednesday 7/5/23:		
- Construction Tech: 3.5 hours x \$99.00/hr	\$	346.50
Materials:	\$	63.73
Super glue, Schluter trim, mounting tape, & plate hanger		
Dumpster:		
5/23/2023	\$	550.00
5/31/2023	\$	550.00
7/3/2023	\$	550.00
Conex: 20'	\$	775.00
Conex: 40'	\$	850.00
Portable Restroom	\$	438.47
HVAC cleaning	\$	1,561.00
Commercial gutter extensions	\$	1,203.78
Returned supplies credit:		
Carpet, gloves, duct tape, double sided tape, tyvek suits, antimicrobial wipes, 6 mil plastic,	\$	(818.77)
air scrubber prefilters, rags, trash bags, P100 filters, zip ties, zipper		
Sub-total	\$	175,067.57
10% Overhead	\$	17,506.76
10% Profit	\$	17,506.75
*Payments are due by Friday at 5:00pm		
Please make check out to:		
Cavins Construction Group	İ	

Cavins Construction Group,  ©CavinsConstructionGroup		
This price is for cash, check, or Venmo payments only. If payment is via credit card, there will be an increase in price.	TOTAL	\$ 210,081.08

Make all checks payable to Cavins Construction Group
Payment due upon receipt of invoice, a 2% fee will be charged if payment is not received by Friday at 5:00pm.

THANK YOU FOR YOUR BUSINESS!